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SMART TEACHERS ASSOCIATION AND WAY TO SUCCESS
rHFL CursHHBHicy — wereufl 2016

aellwed / SCIENCE
&meold. 2.30 Loewdl Quordg HICLIeESET : 75

SiPlejeny : 1) omensg elemesepd Flure DFaLILSTS 2 6ensT eaLSmend FAUTISHIS CoTsenald. HFSHFLLSH a0
GOBUNBLILTNGT, SienBoHHemETalILTOTLID 2 | emnguitdd OHfelssald. 2) Held SieLevd SBILL enuilener 1o BHEW
TWOSHINSBEG LWLGSHSH GousmiBLD. LILMIS6T sunJousHB@ OLsiidled LweLBHSHa|D

Instructions: 1) Check the question paper for fairness of printing. If there is any lack of fairness, inform the Hall Supervisor
immediately. 2) Use Black or Blue ink to write and pencil to draw diagrams.

dfley — 1 /SECTION -1 (Marks:15)
G&IAiy: (i) @uifelsv o siten 15 alamssensd el weslasaun (i) SwoLiins Gilulamien OsmTBaasiur Beien OTH)
alenL&erflsd Wseyd sFflwnen eflewLeduid CHTHOBHBHH! 6T(LRSHALD.
Note: (i) Answer all the 15 questions. (ii) Choose the correct answer from the alternatives given in the brackets.

1. @Gy wradfwren QUL el WiTEen LBBIW HEIBTET FnBEl ......
@m &® WLeoLulel®mba 2 maurdsbd, @6F uTelsnors @mdaHe,
GubUTeOTsN LIsRTLH6M60 @&d (hdHELD, AQArHHeumE CoumILIHH60)
Identify the incorrect statement about identical twins.
(developed from a single zygote, always of the same sex, look alike in many aspects, differ in their blood groups)
2. BSOS CHTUILTED (LPEDB -.n..-
(Felldbaimen, aumuiefwuTesH0HMeHe0, STUICFUI BewemilisHdHd, Curwmell LWSTLGHHID 2 ML ML)
One of the means of indirect transmission of a disease is.. (sneezing , coughing, through placenta , using utensils of patients)
3. LUeieugpeuenr BHulymefell LTSHIE6T. OI) QUEFTH Q) FemendHs (el UGH &) OFsd 2 Leod
F) OL&n engl Bawsit  eiafley, BIIDLS SHITERIL Ve Fflwimenr UTenS......
A) U AGFAFD S, Q) AFANDF) AR Y B
The following are the parts of a neuron: a) Axon b) Terminal branches c) Cyton d) Dendrites
The correct pathway of a nerve impulse through these parts are . i) badc i) dcab iii) bdac iv) adbc
4. smoBBU6ET GeuslenU ...... e ormEBH. (olend, Hefl, HH2enemi(sTant@LTeroLTD), H6ld8HTe0 (QUflamTiy) )
Post-fertilization, the ovary changes into a/an . (seed, fruit, endosperm , pericarp )
5. &Leb eump FHifleonusellsd (PEINHSHEHET ....UH WOIBILTG DIEOLBHSHIGTNSI. (HIBLILS6T, DBEHMBH6N, LeSen HHBH6I, Hifls0b6IT)
In marine whales, the limbs are modified into .............. (flippers, wings, baleen plates, grippers)
6. el o eweHE@GLe LTMSUIE enwwTd 2 piiiener erpHis. (QHTewenL, sumll, euTiIEGL, HSenewILID)
Which of the following one is not the part of alimentary canal (pharynx, mouth, buccal cavity, pancreas)
7. ug eMOUTMEDHG aBHBIGSTG.  (HTOFL, @MDY, Wwoafdwib, Bevbsi)

An example for fossil fuel is . (copper, iron, magnesium , coal )
8. &nBmBrenevseilsi apeuld QUEBLLIGL GLrdhs Wer o BusbHulsd @HAWT .... BLHH60 o eitengl. (4, 5, 2, 3)
India is ranked ........... in harnessing wind energy for the production of electricity. (4,5, 2, 3)

9. @ Qe Gsmealemaiuisd, GeuiLBemsvenws _ HmFHBeT DHENEGW. (DHBNHHTE0, GHMBSHBHTEL)
In an endothermic process, solubility increases with __in temperature. (increase, decrease)

10. suifleb o eitem euTdhigds Sifievd. ellfll&r........o1fb 2 eengl. (LiTirfd oufeon / ol igd Sidsoid)
Curd contains lactic acid. Vinegar contains ............ acid. (Acetic acid / Tartaric acid).

11. apsipreug euflensulsy Heflomisst 2 eitenar. SleuBpled sHHmen 2 Ceorsmissit 2 eitenen? (8, 3, 5)
The third period contains elements. Out of these elements, how many elements are metals? (8, 3, 5)

12. usileleroLit ysveoiflesr & UBCeuBmIend eugeuld (ewbL Jeed [/ &6 /[ F60..UT)
Buckminster fullerene is the allotropic form of (Nitrogen / Carbon / Sulphur)
13. yeliuginfled 50 &.&8 Benpuleien LOENGEN6T 6T6DL .. ... .. (50N, 35N, 380N, 490N)
The weight of a person is 50 kg. The weight of that person on the surface of the earth will be __ (50N, 35N, 380N, 490N)
14, 2 IRl eurwjellell (LPHEUI EPEVD. . runrnnerne.. ( Hevdafl, Qe & BBe6y, LoTL_(B& FM6mILD)
The main source of bio-gas energy is ....... (coal, heat energy, cow-dung )
15. Oxeie] umiTenaluiem FABI OHTEEVE). ... ... ( 2518, 250F.15, 1515, 1565.15)
The least distance of distinct visilon is ....... (25m, 25cm, 15m, 15cm)

fley —11 / SECTION - Il (Marks:40)
Gl gCsmid Bmual alamsseEnsHd LG el weldsan. Note: Answer any twenty questions only.
16. urppbuflwb g Feo (WeHw QFTB GUilyssT S6p OETBHEILL(Beiensr. euBmishT Fflwreaubensbd CHTHOHBHSHI
SIDBHIB. (6660, LTBILT(BS6T, FBplemoTaey, o361, Dis06SE6OT oM. .L|SH6IT)

) BTTewid6l QuIBLIWIE FmTphsd umybuflws STyelissT ESLD.
Y I aaiugl @Cr dafledi LIBBISH HeTMOWITGLD.
[0)) [, GTEIILIGI  DI6VE0I6VHEHENL_ UL 6TEHTLSITLIENIDIIL| S@EHLD.
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Here are certain important hereditary jargons. Fill in the blanks by choosing a suitable one from the list given.
(allele, variation, speciation, gene, allelomorphs)

i) are the factors which form the physical basis of inheritance.

i) is the alternate forms of the same gene.

iii) are the expressions of contrasting pair of alleles.
. LT&LT gouimelr eflsbiol. ojeuitserien @&Cenmeadlity oyuiedler capsold o @eumenr LTl o BoH@GLlg UTevwly CF6d GUBLILLL
LITOFL GeueiiensmT bl @HHMSGSLN? SlsbevHl aUeNMTlILS STwimen GFLLWT gl @HBBHESOT? SHTJEOID FnBis?
In Dr. Ian Wilmut’s cloning experiment, did the new born 'Dolly’ resemble the udder cell donor Dorset white sheep or

18.

19.

20.

21.

22.

23.

25.

26.

27.

the surrogate mother sheep? Give reasons.
QUTMHHSHISH:

Sl 2 Uit o 6w

o, 2 ulfFdlysei

&. o1mBsverd

. Ly eoflgGevmedt
Match the following:

eroL_gmui(h

QD

QH5H GEBGHETL

UTSHISMTUL LOBHID LO[HHSHIN Hiens

a. Bio sensor - steroids
b. Bio chips - enzymes
c. Amylase - blood glucose

d. Prednisolon - defence & medicine

Q@ LoTewieued LFeverd GHTUlEITEd LTHSSIULG GeMIOMLBSTT. Dieueii Sipfieilwlsd FMwT iU euTpHemauish

Bemipo QHCHTL Sieueneis STHETH eldipl Fapflemt. @& Fapp FAT? SHeupr? SMFewid Fnpis.

A student had an attack of measles and recovered from the infection. His science teacher said that he will not get that

disease again in his life time. Is it true? Why?
BB 2 _6item LLGHMS eumIbH QBTHHBUULBoilen GUlLILEefe 2 _SHalwmed uTshsmens GBEUIGS.
) Q& FBBIEHHT 15H DienohEHleTen &L,
) DH FISGSD apTiGrenssT oLe0CLTerve@yme BBID
STiTgGeromedr ,@LD.
Copy the diagram and label the parts with the help of the clues given:
i) It is otherwise called supra renal gland.
ii) It secretes two hormones, namely aldosterone and cortisone
SHAMBEDHD lMBHHEHID LIFaIHE0 - QUTHSHHIS.

) 24 GLTGsH i) gmosmy a) Autochory i) Lotus

< SieflBlonGes ) 19emyLmeserd b) Anemochory i) Xanthiun
8) oapyeyTCa 1) eromhalwb ¢) Hydrochory iii) Tridax

) @&Gofl IV) umebgd d) Zoochorv iv) Balsam

1Bewmed e1aCITedHH60 cpevlD GTATUILGL CUITHETHM6I IBISHEL CIGIBIEY 6I6N6IN ! 61 GBHBIBBIL (S H(HS.
What is echo location? Give an example.

2 L afefr ‘oreLT sV’ 66y FPBIHLD MPHSUILBSBSI-HTIERID SHHILBIHHI 6TDSHISB.

The Master chemists of our body are the kidneys. Justify.

. BPHEL LILSH0H 156HGBID aImIbshl SlguiiB SRl Litshisafsd gesaid BB

UTSBIBEm6T  Giloa|ID.
9|) Guemorelledr &lewreniid (&) @&BeMTOH6VEID
®) OemsiiBsoullelr alemene)(F) BFaHMbEID HT6NID

Draw the diagram and label any two parts mentioned below:
a) Bowman’s capsule b) Glomerulus [
c) Loop of Henle d) Collecting duct \ / L))

Match the following with respect to dispersal of fruits/seeds:

&0 QETHHSILL_[Beitem o’ L (penmHCemm(h SieuBmlelr Hml] o mi|Henen a@g,@as&»rn_@es@l_aﬂ Qurr@,&'@]&
SHMEFMTL D611 L (LP6DM mdHCHTemyaFT GouiTa6i HENOGLLIT
QL (HeuiTew 61T LIF6DFULILD orGeorm_Gymruim
LD @ 60016001 61T e Ter0@L milwikigseir mamLierv&Hend
Match the methods of nutrition of special organs with suitable examples:
Autotrophs Mycorrhiza Cuscutta
Parasites chlorophyll Monotropa
Saprophytes Haustoria Hibiscus

SICralwmeLels, wfCwreLels elleomidsst eemBTed 6lcien? GABSHIBT.BEOT HHS.
What are ammoniatelic and ureotelic animals? Give examples.

2 mAIBHSHHH (A): SIBBIGGITUF Faufled GHHOGHIDL] IDETUIRIGET SHTewILILIGI6Im6.
smyewnid (R): @ewen &TBmIS GWTUI HBHSHID HenBHheH MDD LITHISTHHEDBSI.
o) Asfl Reaum <) Asem Rafl @) Agfl RA-g slensagdsissl.

Assertion (A): Rings of Cartilage are present in trachea.
Reason (R): Trachea keep the air passage open and prevent from collapsing.
a) A right R wrong b) A right R right c) Aright R explains A

F) A wBpid R seim

d) A and R are wrong
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28.

29.

30.

31.
32.

33.

34,

35.

36.

37.

38.

39.

41.

42.

43.

45.

efruapd 2_emrejeusnevenwl 2 _BHICHTHS Heouprar FpBmpd CHTHOSBHS.
a) 1) ‘A’ o _pusdwrent i) ‘F sreuy o ewiewt
iii) ‘H ovansgemien V) ‘1” @mia oemer o emiew.
) UL SHHeI6IT6N 2 _6mia|alsnevuisy 6THHemel o _6mia|F Fhidedawelt
© 666 6IILIMSBEH  HemTBLNIG .
Observe the following food web:
i) Find out the wrong statement: [=1[~ | |
a) ‘A’ is a producer b) ‘F’ is a herbivore ' __— T A by
¢) ‘H’ is an omnivore d) ‘T’ is a climax carnivore | A I | B I | c | D |
ii) Find out how many food chains are present in the above food web.
Heoul Gup Buieors elend aHLE @B BWbens euend. BHmen els HisTels CassHms el e Gaisors
AQuiBnd HlBDeN6ITe0 LOMBBEOTLD. - CBEEHIL FBedB LIgHdHl, SHUBTOIHT DV60FH FAWLTOIST 6IOILNS 2 BId)
Qeuis. HUBTE SMHHHT60 FhwTen FnBpflenend Fmyl.
A non-renewable resource is a natural resource, if it is replaced by natural process at a rate equal to or faster than its
rate of consumption by humans. - Read this statement and say whether it is correct or incorrect. If it is incorrect, give
thecorrect statement.
BID BT WISFLGHMOUD DIGMEL BodHEG gHUBL CoBEmens SHaliE@ OUTGLG SWe B (WBWTHS N6
GousiBD. o1) BT slsuaufuled WTFMLAMHI? &) 2 MEeT il lgsd BT IHFUBHMED eTeueTBl L (BUBSHSH60MD?
We should manage the waste water in order to prevent water pollution and its harmful effects.
i) What are the ways by which water gets contaminated? ii) How will you control water contamination in your house?
&|Ple) BT 6IGIBTEL 6TedTen? What is sewage?
108 senwowied 2 L 408 Hfied HMISHHBHBSTL DibHmyFed GFpels sHels Heapenuws sHenrsesBs
Find the concentration of solution in terms of weight percent if 10gm of common salt is dissolved in 40gm of water.
Heireumeusiauppiisd Lflens Hemeoenio, Liflens oo sHmdd SMILMS. o) LTTMLSSELY &) CFTLT BT &) Lms
Give the dispersed phase and the dispersion medium in each of the following: a. Cheese b. soda water c. smoke
@®m Bomed oenasien b CaBlIOUTGBEDD 6.023 X 107 Zssisamentl QubPmeE. 3.0115 X 10° gissimen Casmesi_
CO, el Comebseiien erenTeniibemBmMUIS &H6IHES BHE. One mole of any substance contains 6.023 x 1023 particles. If
3.0115 x 1023 particles are present in CO, find the number of moles.
Aoy ewienw SOy Feolul semjselgnisiT maudb@GOUTEHI HTOY FeoBLUL 66T BB LTBIABHI? 2 6 LBIGEHT6r
alensaabmebsHaran. Why does the colour of copper sulphate change when an iron nail is kept in it? Justify your answer.
smyFelsi emamplyegst oweiuler GFpey 1x10% M erafied
) DdHemyF6dein prﬁtu wrgl? 1) B HHMIFe06 pOHwﬁl'Ju wrg?
The hydrogen ion concentration of a solution is 1X10® M i) What is the P of the solution? ii) What is the P°" of solution?
@my el SHIGUIIRLILE euTened algBfe0 BLBGLN? ©_MIE6T LBGIGHTE BTy HmdHddnbls
Can the rusting of iron nails occur in distilled water? Justify your answer.
QuTmHhbaTEmS BHTHBSHM: SHewgBuimemevl, Al enyl, UGeTTOOUTT, &6V _LIL]
Find the odd one out: Cryolite, Siderite, Fluorspar, Rock salt
C4Hy 16513 apsodbanml eumuitiLm@G OQsremi Sienansal orbBlukismenud e1ips) sisBeiw IUPAC Quuwi@s.
Write down the possible isomers and give their IUPAC names using the formula C4Hy
BPEHBTEID FmBEIEeaTsd HoupssT Rl HHHBIS. . @M BuylLer eleng e6iugl @@ ST Blensujsien QuTmesi
Ims™ WPE&5BHmS gBUBSHID elngulst Siememeud GBISGWLD. <. ellensbd 6l ellensnubd eICUTHID 6 GuTmeren
a1 QFweou@. Correct the mistakes, if any, in the following statements. i) One newton is the force that produces an
acceleration of 1 ms™in an object of 1 gram mass. ii) Action and reaction always act on the same body.

I =

gBp - @pse elemenur (s sEefulsd 20 &H.& aemLujsien @ Fpieusr smedlullsr ®) O
WHBHOGES 1.2 LT GFTeneveailsd DTS Levms FoBameoulsd @mes 60 A= -«\
HGeordPTD HenBU6TsT WeNST 6mhE iy CouewiBGo? ( \ .Y 0

A boy weighing 20 kg is sitting at one end of a see-saw at a distance of 1.2 m from the centre.
Where should a man weighing 60 kg sit on the see-saw, so that it stands balanced? |
Gamgl L. @Lnuisenem Blys. i) Weienwds Coupium® @ Geumsdl BLLT elafled WOHGIMLLD : .........
) BTO6T Heweowlld  LOJLFTT YMBmed 6Teaed @fll HBBEL : .........
Fill in the blanks i) Potential difference : voltmeter; then current .

ii) Hydro power plant : Conventional source of energy; then solar energy: .
Heireupd LLoTeNEl @M cpipul SHBPleT @® UGS siafled iy iy iz, Sp&w
LO\GHTB AT L RIBEm6TTES ST,
The figure is a part of a closed circuit.
Find the currents iy, i, .
GeoumebL Ll6iiBevGHei UL S OEThHEEUULBeiTengl A, B, C, D etand
GUUILLLL L. UTERIEMmeTS GHNHHaLD.
Voltaic cell diagram is given below.
Label the parts marked A,B,C,D.
Gamgl L. @LmBenem HIFL®S: 1) CmiLmT:- HeneudbsTheiD, eumsnis
(wpewpuileomenr Gomi L mi ) Gl QFHTemevey:- I LT, Hmedr
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Fill in the blanks: a) For a motor : a permanent magnet, then commercial motor ___ b) Focal
length of a lens: meter, then for power of lens

46. Hereum GFTBOBTLAsd Lempsefdiiier SHmbSaLb.
Sl) BTHSLILEVID 6TRIDEAIIL DL (HD QBTWIL ene)] ) FUL SMhHHHe GCeuelCu &mhs alenddBsmTBHseT SHThdHd
Cpeinwenamuilsd GHTLMIS eIl (psneruisd (LplQuiLb

Correct the mistakes, if any, in the following statements.

a) Magnetic field is a quantity that has magnitude only.
b) The magnetic field lines emerge from the south pole and merge at the north pole.

47. @ Gellevsiierfie GelwWSHITTD 215 elaied, OGeveiteriel el HTewIE.

The focal length of a concave lens is 2m. Calculate the power of the lens.

dfley —I11/SECTION — 111 (Marks:20)
G 1) @ai0an®m UGHWIIGHEID @® lem e BIHG olambsehdd ol wsildsalb. i) @elCarm elameliBeb
BhGH A ICUEIE6T. i) CHemeuuwitenr G misefled LD euenyE.
Note: i) Answer any four questions by choosing one question from each part. ii) Each carries five marks. iii) Draw diagrams
wherever necessary.
ugd—I / PART — |
48. gsgILBBISEGmBUleTe gBUBL usBaum Gpruisemend @GUILIGS. SIHCHTUIGEEHEETH VGBS 611HIH
List out the various diseases caused due to nutritional deficiency. Add a note on their symptoms.
49. engymIG @B euenyd. SeuBnienr ULenllEeT BBID GMBLTHEM6T 6T(IHSHIS.
Write short note about thyroid. Write its functions and disorders.

ugd —Il/PART —II

50. &6 QBETESHSLILL_B6iten LILHMS 2 BRICHTHGS.

) ULSNS QUmJbHEH LITSHHISM6NSGHH S5,

o) sHOBISNSGL L6 E, F STeurbAen 6lbd LTSNS LOTEHIS 6imedr.

Observe the given diagram:

i) Draw the diagram and label the parts.

ii) What happens to the parts labelled ¢ E’ and ‘F’,after the process of fertilization?
51. sflenw efilugdemsd gBUGBLD S UWEGD CFweddmen LI IpuiedBHsb.

List out the harmful effects of burning coal.

GTmo O W >

uggd —I1/PART — 1l
52. Gamguid enu sSTTLGIL L QeulLlLGSHSIDCUTH Lisieumwrn HensealenL SBal.

2 NaHCO; > Na,CO;+ H,0 + CO; (sigm Mlewmser Na =23, C =12, H =1, 0=16)
3) BF FEUTLI960 61dhHemen Gomevdsit Gamiguid enu &HMTUGsIL. 2 6iTengl? <) GaFmguibenusTTUGEIL 19651 Blewm wimg?
R) QF FoOTUTLIg6D 615HHM6N GLOT6LH6IT HITLIGH DL Hener([h 2 6iTend)?
Sodium bi carbonate breaks down on heating:

2NaHCO; > Na,CO3+H,0 + CO, (Atomic massof Na=23,C=12, H=1, 0=16)
i) How many moles of sodium bi carbonate are there in the equation? ii) What is the mass of sodium bicarbonate? iii) How
many moles of carbon dioxide are there in the equation?

53. CoHeO e16ii3 clpeuddmml eumuIiLT@ 2_siten  &foF@amorisst A 2_Geors GFTQUISSHIL 6T HABL TG 6ITUen6
GeusfBuBpamal.Cwad A @it H,SO, 2 L6t 410 K Gauliuflensvuled eleneryfibg CqH100 si6iB  cpevddnmi
amuimm e & Garewi GaFmob B s smams. Gwsud A o it H,SO, o 1 et 440K Geulimensouisy eflenenfiibgi
C,H, et6iip eumiumenLé Gamewi. GFmwod C @5 SwPpHl. GFimow C yGymber Beny BpwBpstsgdsa. A, B, C
MH HILNH.

Organic compound ‘A’ molecular formula C,HgO liberates hydrogen gas with sodium metal. ‘A’ gives ‘B’ of formula
C4H100, when it reacts with concentrated H,SO,4 at 410k. At 440k with concentrated H,SO,4 ‘A’ gives compound ‘C’ of
formula C,H,. This compound ‘C’ decolourises bromine water. What are ‘A’, ‘B’ and ‘C’?

ugd —IV /I PART — IV

54. 9ppylLeier Fiyeldeow eipsis <) 60 &.8 wBpid 508.8). eenLwsien Bm uslFFpsg offjssr qm sulbps
Bwm (poeusemenll LigsHgieneneny. swipreng elenpliuns o siengl. 60 &.&. eienLujsien geush 20N efensuled sulBenm
Bpsdmre eafled, LPILIGSHH 2 siem allensmum (B offf suilBileamsd o em@b alens wWrH? EmeIwmenLw
WPOBBHB6N WA wrg?
a) State Newton’s law of gravitation. b) Two ice skaters of weight 60 kg and 50 kg are holding the two ends of a rope.
The ropeis taut. The 60 kg man pulls the rope with 20 N force. What will be the force exerted by the rope on the other
person? What will be their respective acceleration?

55. w1 SEBFmFhETM WGBHIFF 1960, GempuTL L FlOFligbers ufibsienydsliul L SHpeisen pesBuw, ealsulilGs
sevir:- 3.50 D AL lues senr- 4.00 D ereiey,
Sl) SIQIT 6I6IeNNGBLI LITTENaUHEGHMBLTL L T60 LTHSHUILL (BeTenTi? <) GLoBsewi. Cevaidide 6mDUISHE 60
CelbamB@WT? Sisveugl aleMiblyseilsd GaIHHMmBGWT? @) M OevaisFsafled 6hH&H Oever dFlar @GalwaTrb
AP HWOTH B ([H& &L .
The optical prescription of a pair of spectacle is Righteye: -3.5 D Left eye: -4.00 D i) Name the defect of the eye.
ii) Are these lenses thinner at the middle or at the edges? iii) Which lens has a greater focal length?
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